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BNRI-102 : ELEMENTS OF HYDROLOGY  

Time : 2 Hours  Maximum Marks : 50 

Note : Answer any five questions. All questions 

carry equal marks. Use of a non-

programmable calculator is permitted. 

1. What is hydrologic cycle ? Explain the 

different components of hydrologic cycle by 

giving a neat sketch. 10 

2. (a) Describe different forms of 

precipitation. 5 

 (b) Define runoff. Enlist the various factors 

affecting runoff. 5 
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3. (a) Explain the velocity area method of 

runoff measurement. 5 

 (b) What is the role of hydrologic soil 

groups in runoff production ?  5 

4. (a) Describe different water balance 

components using a neat sketch. 5 

 (b) Describe the factors that affect the 

phenomenon of water percolation. 5 

5. Define evapotranspiration. Describe various 

factors affecting evaporation process. 10 

6. (a) In a wheat crop, 5 irrigations of 50 mm 

each were applied. The crop 

consumptive use and crop yield were 

recorded as 400 mm and 50 quintals, 

respectively.  

  Determine : 5 

  (i) Field water use efficiency; and  

  (ii) Crop water use efficiency  

 (b) What is infiltration ? Explain the 

method of the measuring infiltration in 

the field. 5 
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7. Describe the various parameters which 

influence channel discharge. 10 

8. (a) Compute the discharge of a rectangular 

weir having 60 cm long crest width and 

40 cm head over crest. 5 

 (b) Calculate the peak rate of runoff from a 

watershed of 50 ha. area for a rainfall 

intensity of 50 mm per hour. The 

watershed located in the sandy soil 

area with 30 ha. cultivated land  

(C = 0.30), 10 ha. pasture (C = 0.16) 

and 10 ha. forest (C = 0.25) area.  5 
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 BNRI–102 

tylaHkj izcU/ku esa fMIyksek  

(Mh-MCY;w-,e-)  

l=kar ijh{kk  

twu] 2025 

ch-,u-vkj-vkbZ-&102 % tyfoKku  ds rRo 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % fdUgha ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad 

leku gSaA lk/kkj.k dSYdqysVj ds iz;ksx dh vuqefr gSA 

1- tyfoKkuh pØ D;k gS \ LoPN vkjs[k cukrs gq, 

tyfoKkuh pØ ds fofHkUu ?kVdksa dh O;k[;k dhft,A 

      10 

2- (v) vo{ksi.k ds fofHkUu :iksa dk o.kZu dhft,A 5 

 (c) viizokg dks ifjHkkf"kr dhft,A viizokg dks 

izHkkfor djus okys fofHkUu dkjdksa dks lwphc¼ 

dhft,A  5 
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3- (v) viizokg dks ekius dh xfr {ks=Qy fof/k dh 

O;k[;k dhft,A 5 

 (c) viizokg fuekZ.k esa tyfoKkuh e`nk lewgksa dh D;k 

Hkwfedk gS \ 5 

4- (v) LoPN vkjs[k dk mi;ksx djrs gq, fofHkUu ty 

larqyu ?kVdksa dk o.kZu dhft,A 5 

 (c) ty izos'k dh ifj?kVuk dks izHkkfor djus okys 

dkjdksa dk o.kZu dhft,A 5 

5- ok"iu&mRLosnu dks ifjHkkf"kr dhft,A ok"iu izfØ;k dks 

izHkkfor djus okys fofHkUu dkjdksa dk o.kZu dhft,A 10 

6- (v) xsgw¡ dh Qly esa 50&50 feyhehVj dh 5 flapkb;k¡ 

nh xb±A ty dk {k;'khy mi;ksx 400 feyhehVj 

vkSj 50 fDaoVy mit izkfIr fjdkWMZ dh xbZA  

Kkr dhft, % 5 

  (i) [ksr dh ty mi;ksx n{krk_ rFkk  

  (ii) Qly dh ty mi;ksx n{krk  

 (c) voNuu D;k gS \ [ksr esa voNuu dks ekius dh 

fof/k dh  O;k[;k dhft,A 5 
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7- pSuyksa (ukyksa) esa fuLlj.k nj dks izHkkfor djus okys 

fofHkUu izkpyksa (iSjkehVlZ) dk o.kZu dhft,A 10 

8- (v) f'k[kj ry dh 60 lseh- pkSM+kbZ okys rFkk 40 lseh- 

Åijh 'kh"kZ pkSM+kbZ okys vk;rkdkj oh;j }kjk 

fuLlj.k dh x.kuk dhft,A 5 

 (c) 50 feeh- izfr ?kaVk dh o"kkZ xgurk ds fy,  

50 gsDVs;j {ks= ds tylaHkj ls loksZPp viizokg dh 

nj dh x.kuk dhft,A tylaHkj cyqvk feêh {ks= esa 

gS] ftldh 30 gsDVs;j Ï"; Hkwfe (C = 0.30) gS] 

10 gsDVs;j pjkxkg Hkwfe (C = 0.16) gS vkSj  

10 gsDVs;j ou (C = 0.25) {ks= gSA 5 

× × × × × 

 

 

 

 

 

 


